146 1)
@) F(F(x)=3x+4 = F(F(F(x)))=F(3x+4) ()

£(f(x) axga (F(f(x)))=3 (x)+4 )

(1), (2 =>f(3x+4)=3f(x)+4 yakibe xR

Oétovpe 6mMOL X TO —
B) f(3x+4)=3f(x)+4 =  £(3(-2)+4)=3f(-2)+4=

:>f(—2) =3f (—2)+4:>—2f (—2) =4=f (—2) =-2
146  2)

"f Gpovpe"

o) f(f(x))=8x-2 = f(f(f(x)))=F(3x-2) (1)

£(f(x))= ax_2 (F(F (x))) =3 (x)-

(1), (2 =f(3x—2)=3f(x)—2 ykabe xR

Oétovpe OmUL X TO |

B) F(38x-2)=3f(x)-2 =  f(3-1+4)=3F(1)-

= (1) =3f(1)- 2= —2f (1) =—2= f (1) =1
146 3)

"f apovpe’

f(f(x))=x*-x+1 = f(f(f(x)))=f(x2—x+1) (1)

0étovpe 6mov X o f(X)

2 (2)

2=

F(F(X)=x—x+1 = f(F(f(x)))=F(x)-F(x)+1 (2

Emopévmg

(1), () =F(x* —x+1)=*(x)-f (X)+1eémgle

= (1 -1+1)=F* (1) -F (1) +1=F (L -1+1) =* (1) (1) +1=

=f(1)=F*(1)-f(1)+1=>F>(1)-2f (1)+1=0=[f (1)

=f(1)-1=0=|f(1)=1

—l]z =0=



